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b#rfE 1 T H 1, 847 12 8 10 6 3 7 3 5 3 5 5 3 4 4 4 8 6 8 32 75 83 89| 134] 134] 110 87 109 82 61
7 1,002 6 2 7 4 2 5 2 2 2 3 2 1 2 1 2 6 2 7 17 39 48 49 77 75 68 50 55 54 33
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5 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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7 295 1 1 1 2 0 2 3 0 0 1 2 0 0 0 1 1 0 0 3 7 2 5 10 15 19 14 10 4 14
58 269 0 1 1 1 0 0 0 1 1 2 1 0 1 2 0 0 0 1 0 4 2 9 9 7 13 5 7 19 15
VaETE 5 T H 441 0 6 2 4 4 4 7 1 5 1 2 4 1 3 0 1 3 5 2 11 6 9 11 8 12 9 22 14 17
7 198 0 0 1 3 2 1 2 1 3 0 1 2 1 1 0 1 2 2 2 3 2 4 4 4 5 6 13 5 2
58 243 0 6 1 1 2 3 5 0 2 1 1 2 0 2 0 0 1 3 0 8 4 5 7 4 7 3 9 9 15
VIR 6 T H 485 2 5 5 4 5 7 2 0 2 1 2 0 2 2 4 2 2 3 4 7 7 1 10 13 8 10 9 8 6
7 258 0 2 4 2 4 2 1 0 2 0 1 0 1 2 1 1 2 2 3 4 4 0 7 9 4 4 4 3 1
58 227 2 3 1 2 1 5 1 0 0 1 1 0 1 0 3 1 0 1 1 3 3 1 3 4 4 6 5 5 5
VaETE 7 T B 230 0 1 2 0 0 1 0 0 0 0 0 0 0 0 0 0 0 1 1 2 5 1 3 12 10 10 8 14 13
% 131 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 3 1 1 5 4 7 5 7 8
% 99 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2 0 2 7 6 3 3 7 5
VEEE 8 T H 313 1 2 1 2 0 1 0 1 0 0 0 0 1 0 5 2 1 1 4 11 7 7 9 9 11 13 8 9 14
% 157 0 1 0 0 0 0 0 0 0 0 0 0 1 0 3 2 1 0 1 5 3 4 4 5 7 12 2 5 4
8 156 1 1 1 2 0 1 0 1 0 0 0 0 0 0 2 0 0 1 3 6 4 3 5 4 4 1 6 4 10

B 21, 515 80 85| 104 73 88 83| 100 91 99 94 75| 105 91 74] 115 79 89| 126] 355] 758 853 853/1,068|1,096|1,160]1,015] 964| 803 781

o 20, 642 79 92 96 81 75 62 87 102 86 92 96 94 75 67 77 82 73] 105] 309, 718| 804| 821| 978|1,014] 970, 908| 815| 723| 674

o = 42,157] 159 177| 200] 154] 163 145/ 187] 193] 185] 186] 171} 199 166/ 141| 192] 161] 162] 231 664/1,476]1,657]1,674]2,046/2,110(2,13011,923|1, 779|1, 526]1, 455




Brg X AEREARBROETHIL 2 (1mER) AR GHEADZ)  Fpk3 144 1 1 BHLE 30,732

T 4 297% | 307% | 315k| 325k | 33isk| 34mk| 35i%| 367%| 3Tik| 38ik| 39mk| 40mk| 41n%| 425%| 435k | 445k A5ik| 46m%| 47wk | 485%| 49k | 50ik| Blisk| 52mk| 53wk | b4k| 5ok | 56isk| HTisk| 58k | HInk
b#rfE 1 T H 53 51 50 46 37 24 46 31 24 27 27 16 20 16 20 18 14 18 18 15 19 9 9 8 14 16 7 11 8 12 6
7 34 33 28 28 17 14 24 13 14 17 18 8 12 8 8 6 7 11 8 6 7 5 6 4 6 5 3 3 4 8 4
28 19 18 22 18 20 10 22 18 10 10 9 3 3 8 12 12 7 7 10 9 12 4 3 4 8 11 4 8 4 4 2
e 2 T H 26 16 15 19 12 9 12 13 12 3 13 6 11 7 9 7 9 3 10 8 3 12 7 3 9 5 10 12 6 7 7
7 11 3 10 11 6 6 7 9 6 7 6 2 6 6 4 2 4 0 9 5 1 6 3 2 1 3 3 4 4 3 3
58 15 8 5 8 6 3 5 4 6 1 7 4 5 1 5 5 5 3 1 3 2 6 4 1 8 2 7 8 2 4 4
%= 3 T H 66 45 44 42 34 27 28 30 29 20 23 15 18 17 20 10 14 16 12 22 17 11 10 13 8 8 8 6 7 10 7
7 40 27 18 22 16 16 17 15 18 3 10 10 10 9 8 4 7 9 8 11 5 3 4 6 5 3 5 2 2 3 4
58 26 18 26 20 18 11 11 15 11 12 13 5 8 8 12 6 7 7 4 11 12 8 6 7 3 5 3 4 5 7 3
84 T H 62 47 45 25 29 19 34 25 28 24 25 14 20 18 16 19 20 12 27 13 13 9 12 9 6 10 5 10 4 1 4
7 34 27 27 12 7 6 17 12 13 16 16 10 14 11 9 10 8 7 19 4 3 7 3 3 3 4 3 6 0 1 0
L8 28 20 18 13 22 13 17 13 15 8 9 4 6 7 7 9 12 5 8 9 10 2 9 6 3 6 2 4 4 0 4
VaETE 1T H 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0
5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EEE 2 T H 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
VEEE 3 1T H 12 8 9 5 9 4 4 8 3 1 1 6 2 1 2 4 2 0 0 2 0 1 2 1 3 2 1 0 4 1 0
5 6 4 5 4 5 3 2 5 3 0 1 5 0 1 2 2 1 0 0 1 0 0 1 1 3 1 0 0 3 0 0
58 6 4 4 1 4 1 2 3 0 1 0 1 2 0 0 2 1 0 0 1 0 1 1 0 0 1 1 0 1 1 0
Vs 4 T H 24 21 16 24 11 10 13 16 22 9 7 14 11 9 5 9 1 7 5 7 10 8 6 3 9 6 8 2 4 4 2
7 7 11 9 14 8 4 3 11 8 4 2 13 3 4 1 3 0 4 1 4 5 6 3 2 6 4 3 1 2 1 1
58 17 10 7 10 3 6 5 5 14 5 5 1 3 5 4 1 1 3 4 3 5 2 3 1 3 2 5 1 2 3 1
VaETE 5 T H 13 13 8 3 15 9 7 13 17 5 9 7 5 9 7 9 4 6 6 8 5 6 4 8 5 5 7 7 3 3 5
7 2 9 3 3 9 4 5 8 9 3 3 5 1 6 4 5 1 3 3 4 2 3 2 3 2 2 4 2 1 1 0
58 11 4 5 5 6 5 2 5 8 2 6 2 4 3 3 4 3 3 3 4 3 3 2 5 3 3 3 5 2 2 5
VIR 6 T H 15 15 5 8 14 8 12 16 14 9 14 15 17 10 11 9 11 16 8 15 9 11 7 10 4 3 6 11 2 5 5
7 8 4 4 4 8 5 3 8 7 7 8 8 8 5 6 4 7 11 5 8 5 6 3 6 0 3 2 7 1 3 4
58 7 11 1 4 6 3 9 8 7 2 6 7 9 5 5 5 4 5 3 7 4 5 4 4 4 0 4 4 1 2 1
VaETE 7 T B 12 7 8 11 5 1 9 4 5 7 2 6 4 2 6 3 3 3 5 1 0 2 3 1 4 4 3 3 1 3 5
% 6 6 5 8 3 1 4 4 3 4 2 3 2 0 4 2 1 3 2 0 0 1 2 0 1 2 1 2 1 1 4
% 6 1 3 3 2 0 5 0 2 3 0 3 2 2 2 1 2 0 3 1 0 1 1 1 3 2 2 1 0 2 1
VEEE 8 T H 20 6 10 12 6 7 8 8 9 5 8 8 6 4 1 7 3 4 7 5 7 2 3 2 2 4 2 1 3 2 5
% 9 5 5 7 4 1 3 4 4 3 2 5 4 3 1 3 0 3 6 2 2 2 2 1 1 1 1 0 1 1 3
8 11 1 5 5 2 6 5 4 5 2 6 3 2 1 0 4 3 1 1 3 5 0 1 1 1 3 1 1 2 1 2

B 684 604| 558| b505| 445| 357 411 378] 376| 340| 338 343| 291, 295 285| 275| 242| 271| 289 245 216| 239| 187] 160] 177 155) 160 128] 118| 126] 105

o 626) 519| 480 401| 404| 322 362 375 348| 305| 322] 271| 288 285 233] 289| 306| 252| 255| 270, 260, 240| 180] 182 198 215) 192 177| 156 161] 147

o = 1,310]1,123]1,038] 906] 849| 679| 773| 753| 724 645 660] 614 579 580] 518| 564 548] 523| 544 515] 476] 479 367 342] 375 370] 352| 305 274 287 252
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